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that (n — 1)
positive integer n.
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between squares s
square of the grid and enters each square e
in the square where she started. In terms of n, what is the
largest positive integer k such that there must be a row or
column that the turtle has entered at least k distinct times?
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Let [ be a circle w

passing through vertex A and points P and C

AC. Assume that BP - CQ = AP - AQ. Prove that I is tangent to
the circumcircle of triangle BOC.
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positive integers. Find ¢

defined onNand taking values inN,
such that (n — 1)< /
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every positive integer n
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